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Exam Style Questions

Estimated Mean Corbettmotths

Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed

k.

Guidance

1. Read each guestion carefully before you begin answering it.
2. Don't spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

P
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1. The table below shows the length of 100 fish from a local river.

4

length, L, cm Frequency Midpoint 1
0<L<10 21 =) 105
10<L=20 11 LS | LS'
20<L <30 31 as ¥}
30<L=40 12 3’ ll,&
40<L<50 25 w5 ES)
¥ 00 *
Calculate an estimate of the mean length of the fish. ;"Ro

9990 - 100



2. The table shows the heights of 50 students.

o

Height, h, cm Frequency "‘1!.?3 'i
110<h<120 3 1\ V5
120 5 h < 130 8 ‘lj 1000
130 sh <140 9 139 1A
1405 h < 150 23 14 s 35S
150sh<160 | 4 7 15§ 4 1085

50

(a) Write down the modal class interval.

(b) Work out an estimate for the mean height of the students.

(840 - So=134.4




3. James recorded the times, in minutes, for 20 students to complete a test.
The information about these times is shown in the table.

1

Time (t minutes) Frequency o\‘} P.\' j 'i
D<t=4 4 8
4=<t=8 11 % ‘l
B<t=s12 4 \0 {l,o
12<t<18 C Iy L

= p——
(@) Write down the mumlass interval, las

(b) Work out an estimate for the mean time taken.

g o = bk



4. Timothy asked 30 people how long it takes them to get to school.

% The table shows some information about his results.

Time (t minutes) Frequency
0<t=10 2
10<t=20 8
20=<t=30 12
D<t=<40 7
40<t=<50 ‘l',_1=;

Woark out an estimate for the mean time taken.
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730 T30 <3k



5. The time for ten students to complete a race is below.
E-

Time (t seconds) Frequency ~m ‘A '&'l
% 0%

20 <t<40 3
40 <t< 60 5 S0 849
60 <t=80 2 30 4 140

o a0

(&)  Work out what fraction of students took over one minute.

(b) Write down the modal interval.

)
(c}  Work out an estimate for the mean time taken.
LG 010 = 4§
........ L‘-gssmnds



